Supplementary Material 41 Cost effectiveness scenario analysis — 70-year-old recipient

Costs QALYs Incremental net health benefit (95% CI)
(95% CI) (95% CI) ICER k=£15,000 k=£20,000 k=£30,000
[P(most costly)] [P(most effective)] [Probability of being cost-effective]
£504.50 9.05734 - -
Control (331.07, 748.3) (9.02678, 9.08664) - -
[0.028] [0] [0.001] [0] [0]
£560.21 9.08821 0.027 0.028 0.029
SWAL only | (393.77, 789.51) (9.05375,9.12238) | £1,804.52 (0.004, (-0.002, (-0.001,
0.056) 0.057) 0.057)
[0.11] [0.022] [0.045] [0.039] [0.032]
£635.86 9.12269 0.057 0.059 0.061
SWAL plus desk (488.73, 819.92) (9.08883, 9.15769) £2,193.86 | (0.021, 0.092) | (0.024, 0.094) | (0.027, 0.096)
[0.862] [0.978] [0.954] [0.961] [0.968]






